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ams sl 24| 68 | o | s
L4 i 4 582| 131,250
L4 i 4 677| 124,950
L4 i 4 707| 171,150
L4 i 5 549 90,300
L4 i 5 691] 141,750
LA it 5 712| 155,400
24 i 5 768| 231,000
L4 i 6 550| 169,050
L4 i 6 653] 135,450
L4 i 6 763| 189,000
L4 i 6 793| 231,000
L4 i3 6 810[ 199,500
L4 i3 9 579 79,800
L4 i3 9 721] 144,900
L4 i3 11 564 88,200
L4 i3 11 736] 164,850

L4 i3 12 650/ 133,350
L4 i 13 555 90,300
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migs |[HRB| 5 | BKE (%&I{ﬁﬁmﬁ &%
xH#F |E 3 771] 611,100
XHEEFE |E 3 826| 653,100
XHEFE |E 3 832] 662,550
XHEE |E 3 905| 716,100
RHEF | 3 661| 517,650
RHEE | 3 693] 536,550
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w4 |wmel as | 68 | Gos |7eseEs
Eh=13 i3 53 80| 439,950 |
Rkl i3 53 84| 425250 |7
Eh=13 i 61 72| 420,000 |7
XEEE | 64 103| 354,900 | 7]
fBRE i 69 63| 334,950 |7
BeR i 70 105 385,350 |F
TREA i3 71 96/ 399,000 |7]
RIRBA ik 74 125| 448,350 | 7]
B R i 77 95| 394,800 |7]
A& i3 105 97| 384,300 [7]
A% & = 111 95| 371,700 [7T
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miER  |MRB| 45 | KE (%falng ik
e i3 1 81| 315,000 |AIEF
O 4T a4

migd  |MHZ ES | KE (%faln? 5%
M4 i3 1 128 340,200 |AIEF
4 i3 1 108 370,650 |AIEF
4 i3 1 101 379,050 |AIEF
@4

migd  |MAIE| F5 | KE (%;ffﬁ &=
M4 i 3 567| 542,850
e i 4 472| 316,050
e i 12 443| 185,850
4 i 12 501| 184,800
M i 13 493| 269,850
M i 15 572] 308,700
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